% 3| =HE & 2 (50m) Kk ke
S ZHASEG AR—Y O 85Kk (50m) 1/3
HIH :20245E3H2H (+)~3H3H (H)

No.23 &+ 50m /N2 754 A LL—RRE KEH 29.48

LK INEERT >

B KK £ K& iclE
1 /i PN DN - NG 14/ 1 29. 59 1% ( 0.70)

- JoC
2 Wik £H TS Sk NG 14/ 9 30.30 10#% ( 0.70)
3 JEHFIEIR HEFy7SC /N6 14/10 30.99 9%k ( 0.67)
4 1ot W A b~ K NG 13/ 4 31.40 9% ( 0.72)
5 HH U A~ HER ! 11/ 2 31.77 118 ( 0.63)
6 J\H #H A < B NG 12/ 5 31.79 9k ( 0.61)
T e EE oI KE /N5 13/ 9 31. 86 9%k ( 0.67)
8 R ML 3 ISPz -JEE S /NG 11/ 5 32.20 9%k ( 0.61)
9 i ALY VISPZ-3EE:= /NG 13/ 8 32.26 9%k ( 0.64)
10 HhF Z84K BT eSS /16 9/ 6 33.13 8f% ( 0.76)
11 58 KH A4 h~ U E NG 10/ 8 33. 14 8#% ( 0.60)
12 #hiy Mm¥ A b~ it NG 12/ 4 33. 21 8#% ( 0.78)
13 HlJIEH % 1 A b~ 4R /N4 10/ 3 33.47 10#% ( 0.69)
14 U EiE A h= L NG 12/10 33.59 % (0.74)
15 JIIgE  fP3ic WIS C NG 10/ 1 33. 89 % (0.71)
16 Jij HH A 70 A Hhy7SC NG 9/ 8 34.06 % (0.71)
17 #HA5 #] TS SHABK NS 9/ 7 34.17 8% ( 0.75)
18 = AT N B HERR) N /NG 5/ 9 34.52 8%k (0.73)
19 /NI H& JSSHTF /N3 10/ 9 34. 61 10#% ( 0.65)
20 H e e A h= LR ! 8/ 7 34. 81 %% ( 0.66)
21 Wl #Jh o3 KE /N5 10/ 2 34. 87 T#%  ( 0.76)
22 [ Ze e I BV S C /NG 9/ 3 34.96 9%% ( 0.66)
23 KHFEOD 7S SHPk /NG 8/ 5 35.09 7% (0.76)
24 BRI A4 h~ 5 HR /N 8/ 6 35.10 S8t (0.74)
25 JREF 75 JHEAS S /N 9/10 35. 25 8#k  (0.74)
26 PR ILIZEF] VW ARERR) N /N4 7/ 6 35.39 8% ( 0.80)
27 b % 7 )L EK O /N4 8/ 1 35.44 S8t (0.70)
28 TEK = A4 h~HPE NG 9/ 4 35. 49 68% ( 0.70)
29 W 0t A4 ~~ o H NS 9/ 9 35.54 THk  (0.74)
30 Freg = AU AT /NG 9/ 1 35.57 T#k  (0.74)
31 =i By VN ARER) N NG 6/ 4 35.63 6% ( 0.77)
32 T AR I B8 S C /N4 10/10 35.70 8tk (0.78)
33 I FHAER a% /S S NG 8/ 2 35.96 6% ( 0.74)
34 HH S A b= 2T /N5 8/10 36. 23 6% ( 0.74)
35 —IRGES ALY H NG 7/ 9 36. 34 5%k (0.84)
36 fiH  HRE A h~ 2 HP /NG 7/ 2 36.59 6% ( 0.74)
37 HHOHTY A b~ EF /NG 5/ 5 36. 69 6% ( 0.76)
38 Wh[H FEA A4 b FIF /NG 5/ 6 37.13 65% ( 0.73)
38 HEFE Fh E— FKH /N4 7/10 37.13 % (0.77)
40 [UN  HIE A4 h~FF /NG 7/ 3 37.17 65% (0.73)
41 R KR A4 F~ 2 HPE /N 8/ 8 37.26 7#%  ( 0.62)
42 FiE EIE r— hrKHA ! 7/ 5 37.45 7#%  ( 0.68)
43 FRIF ZEA WAV /N4 6/ 5 37.56 T ( 0.69)
44 'EH P 7Y ESS /N5 5/ 1 37.62 5%% ( 0.76)
45 FHR AR HE7YESS ! 5/ 4 37. 94 8#k ( 0.76)
46 [BE AR A~ B /NG 9/ 5 37.97 5#%% ( 0.69)
47 )R 7 B4 /N4 7/ 4 38.15 6% ( 0.66)
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